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barstool

bench

bookshelf

end table

hutch

rocking chair

elm

oak

poplar

rosewood

sandalwood

teak
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Clues for Logic Puzzle: X362NS

1. The barstool wasn't made of oak.

2. Cheri's piece wasn't made of sandalwood.

3. Of the end table and the $250 piece, one was made of sandalwood and the other was crafted by Ellen.

4. Of Shelley's piece and the bookshelf, one was made of elm and the other was made of teak.

5. Shelley's piece costs 25 dollars more than the bookshelf.

6. The rocking chair costs  less than the item made of oak.

7. Of Latasha's item and the item made of sandalwood, one is the bookshelf and the other costs $375.

8. Josephine's piece isn't the end table.

9. The rocking chair costs 75 dollars less than Latasha's piece.

10. The $350 item wasn't made of elm.

11. Josephine's item doesn't cost $300.

12. The item made of oak costs  less than the hutch.

13. Ellen's item costs 25 dollars less than the item made of rosewood.
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